A & ol & AF & Ml A
20228 = =0l & 2B A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 562,713,787 506,175,698 56,538,089
100 X1 Al=¢ 49,600,000 49,404,300 195,700
110 XAl 49,600,000 49,404,300 195,700
111 ESAl 49,180,000 48,814,300 365,700
111-03 =2l Al 4,264,000 4,264,000 0
[ 23 ] 4,264,000 4,264,000 0
<ML > 4,264,000 4,264,000 0
oMz 10,000 = 22,5004l CH 225,000
OAtg A& 939,000,000& * 13l 939,000
osgaE:= 258,333,334& ~ 12& 3,100,000
111-04 TH & A 9,876,000 9,820,000 56,000
[ 2etsl A ] 9,876,000 9,820,000 56,000
<ML > 9,876,000 9,820,000 56,000
Od=x=E= 3,366,000,000& * 12 3,366,000
OEX= 5,700,000,000& * 12| 5,700,000
o8z 405,000,000& = 23l 810,000
111-05 Xt = XHAl 8,860,000 8,910,000 A 50,000
[ B3I ] 8,860,000 8,910,000 A 50,000
< MR > 8,860,000 8,910,000 A 50,000
Oxm& 2,430,000,000& = 23| 4,860,000
OoFdz 333,333,334& » 12& 4,000,000
111-07 S A HlAl 5,700,000 5,500,000 200,000
[ 2etsl A ] 5,700,000 5,500,000 200,000
<ML > 5,700,000 5,500,000 200,000
Ot Al Al 475,000,000& = 123 5,700,000
111-08 Xl & A Hl Al 8,450,000 7,540,300 909,700
[ LEH3IAH ] 8,450,000 7,540,300 909,700
< M > 8,450,000 7,540,300 909,700
OZS0LAY EHZ(ANZXE) 704,166,667& = 12& 8,450,000
111-09 X A=Al 12,030,000 12,780,000 750,000
[ 2etsl A ] 12,030,000 12,780,000 AT750,000
<ML > 12,030,000 12,780,000 AT750,000
Osgars= 330,000,000& = 1& 330,000
OLgdAsS=E 41,666,667% = 12& 500,000




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
Ogearss 4,000,000,000& = 12l 4,000,000
Osgd==2 600,000,000& = 12& 7,200,000
[ARIPAR=3= ==l 420,000 590,000 A 170,000
301 AHtEE==¢ 420,000 590,000 A 170,000
ABES ] 420,000 590,000 A 170,000
M > 420,000 590,000 A 170,000
OXtEE =g 35,000,000& = 12& 420,000
200 M2l +=¢ 11,113,002 10,629, 247 483,755
210 & HAN2 = 3,468,652 4,083,841 N615,189
211 et o =g 266,578 265,598 980
211-01 2| MU= 5,139 6,000 A 861
B3 ] 5,139 6,000 A 861
AENSH > 5,139 6,000 A 861
O=sMa Uz 5,139,720& = 13 5,139
211-02 SS MU= 261,439 259,598 1,841
LS ] 261,439 259,598 1,841
< ETNEHD > 105,459 25,459 80,000
OANEANSZ(SEXUHZ M) 20,059
O 1&X 4, 7008 » 1775 = 128 9,982
028X 3,900& = 1628 * 128 7,581
O3S X 3,200& * 65 * 123 2,496
OFE & HAHE AAZS(SAZ M) 900,0008 * 6IHA 5,400
O21@ HEdde 22X JIsA S0 =
80,000,000& * 12 80,000
M > 61,000 57,000 4,000
OZSMa 2dUis =L (M) 52,000,000& * 12 52,000
OZRMe dUs =L (M) 9,000,000& * 12 9,000
st > 57,690 66,886 29,196
OdUE LeSAE SUB 11,200,000& = 13l 11,200
OtI=HOIS& 2X SU= 3,190,000& * 13 3,190
OTEe=SHEZ AEZ 43,300,000& * 12 43,300
E2MsSY > 1,950 1,950 0
Ozfzl&t ARY &lz =¥ 390,000& = 504 & 1,950
$HE28 Y > 561 539 22
OSSMA U= (B2 D) 561,000& * 12 561
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200 Al2l=+=¢
210 o HAM A=
211 oS+

Z2-2-8-5 Off &4 & E Ol At Hns2
< QHEHOH I > 2,535 4,659 A2, 124
O&=z 0gE &1 U= 2,535,000& * 13 2,535
<ALNs > 1,344 500 844
OZsMa iz 1,344,720 * 13 1,344
< ESADHEDL > 19,100 19,100 0
Ost=nth SiE 19,100,000& = 10H A 19,100
< BAIEAIE A > 11,800 11,800 0
OZUHARHX SFRMA aU= 2,950,000 = 40K 2 11,800
212 NhEe=+g 219,154 297,904 78,750
212-01 E2ANEE 67,984 128,402 60,418
[ 2etsl A ] 67,984 128,402 A60,418
<ALDSH > 27,000 88,170 A61,170
OH=sE=2EER= 27,000,000& = 12 27,000
<HsSAH2ARIAE A > 40,984 40,232 752
OS&E AZ(LAN)E2 BMER 1,880& = 21,800m 40,984
212-07 ¥ =¥ 6,000 1,445 4,555
[ et A ] 6,000 1,445 4,555
< ZEAIEAIE A& > 6,000 1,445 4,555
OZEAIREX 2E= 6,000
O (JHel) ofglol 500& = 1,000 500
o&dAHE, 20 800& » 625¢ 500
OO0E 1,000& = 4,410¥ 4,410
O (&) ofglol 300& * 200€ 60
o&dAHE =0 500& * 80¢ 40
OO0E 7008 » 700 490
212-08 =i e==+¢ 4,000 0 4,000
[ LEH3IAH ] 4,000 0 4,000
< SSAEAIE A > 4,000 0 4,000
OodllsaZX =& A28 =¥ 4,000
058 (a¥) 1,500& = 2,500CH 3,750
O58(58), 24012 2,000& = 100CH 200
OsE(UE), 245014 2,500& = 20CH 50
212-09 JIEtALE S 141,170 163,437 N22,267
[ Letsl A ] 141,170 163,437 N22,267
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I 200 MI2I4g
2 210 BAFMASY
g: 213 252849 (SHeada)
¥.2.-8.2 O &k o HE ol ok Hms2
OZ2Y A2PSH NESX 23 8,000 * 35074 2,800
OEXNUE S 23 5002 = 10,000 5,000
OH=E2S 2 22 5002 = 10,000 5,000
OEXOIEAHAN L3 1,0008! * 5,0002 5,000
OEXNX=F 4+ 1,0008! * 9,5002 9,500
<AHEWED > 26,000 25,000 1,000
OXNSX SE BN+ 26,000,0008! * 13 26,000
213-02 Holgxel++2 822,000 700,000 122,000
[ 23 ] 822,000 700,000 122,000
<EHYBIY > 822,000 700,000 122,000
OZYNEE B+ 50,000,000 * 123 600,000
OSAMERHIIES HREE B+ 12,000,000 * 123 144,000
OUHEHIIS HHES22 5,500,000 * 123 66,000
OANZE M3 HIIS XMel+42 1,000,000 * 123 12,000
213-03 MESELHTU>L 96,000 150,000 A 54,000
[ 2833 ] 96,000 150,000 A54,000
<EBY2AY > 96,000 150,000 A54,000
OMEEE +HEMN>Y 8,000,000 * 123 96,000
213-05 JIEt&+ =28 169,500 133,500 36,000
[ 23 ] 169,500 133,500 36,000
< EELAD > 13,500 13,500 0
OuxEgERea B4 442 80,000,0008 * 10/100 8,000
ooEYZ »42 11,0009 * 5004 5,500
<EYBIY > 156,000 120,000 36,000
OJE2L Melas2 13,000,000 * 123 156,000
214 At ¢ 413,640 343,640 70,000
214-01 AML & A Ab S 180,400 166,600 13,800
[ 23 ] 180,400 166,600 13,800
< MRE D > 10,000 10,000 0
O£ R BaE2 S Mk 2,0008 * 5,000% 10,000
< sYIEHE > 132,000 132,000 0
OsYlladE gy Ma8 Mol ¢
100,000,000 * 13 100,000
ODNR0F ZAHY 222 =2 1002 = 80,000 8,000
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09 i 0

200 Al2l=+=¢
210 o HAM A=
214 At =g

Z.op-g-2 ol & 24 IELAVPAE HR 2
OREBNIME 22 U3 2002 * 120,000kg 24,000
< ESAEALL > 38,400 24,600 13,800
OSII M4 BOH 42 10,00020 * 300 * 128 36,000
OSIHE SZHE +¢ 10,0002 * 2001 + 122 2,400
214-05 JIEFAFR! ) 233,240 177,040 56,200
[ 23l | 233,240 177,040 56,200
<AMDED > 58,540 18,540 40,000
OYYR B2 293 1,545,0002 * 122 18,540
ODRSUN SRS+ (FHASLYA) 25423
10,000,0002! * 13l 10,000
OYYBYHAEDE HWELER 2,500,008 * 122 30,000
<sYUIEHE > 174,700 148,500 26,200
OsIHYT +¢ 130,000,008 * 13l 130,000
OSMSIITDSUEH 2 +¢ 1,200,0008 * 13 1,200
ORB=s 242 87,0008 * 500% 43,500
215 F4DLI4Y 849,880 771,520 78,360
21501 40234 849,880 771,520 78,360
[ 2era | 849,880 771,520 78,360
<R > 759,930 681,570 78,360
OZHE+ DES(WLB) 759,930
OHSAH 20,318,000,000%! * 3/100 609,540
O S=5Al 2,200,000,0008 * 3/100 66,000
O XIS R A= A 2,393,000,0008 * 3/100 71,790
OMHE 2 420,000,000! * 3/100 12,600
< BHOUAD > 40,000 40,000 0
OsXNHEERLS 40932 500,000,000 * 8/100 40,000
<HALHY > 49,950 49,950 0
OBINHRLS 4023 555,000,000! * 9/100 49,950
216 Ol Xt 2l 485,600 870,757 £385,157
216-01 ZZOIZ0IX 4+ 480,100 865, 257 385, 157
[ ors ] 480,100 865,257 385, 157
<HRB > 480,000 864,000 384,000
2TH2 UKL (WD)
(90,000,000,0008 * 0.005) + (15,000,0002! * 2) 480,000
<AHLDED > 100 0 100




: 200 M4
2 210 BAFMASY
8 216 0| Kt (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
O3Z202 olX ¢ 100,0008 = 13 100
216-03 J1 EFO| Xt== ¢l 5,500 5,500 0
[ Lersl A ] 5,500 5,500 0
<R > 5,500 5,500 0
ONY . HEQ 3220 O 0K+ (H2)
1,500,000 * 23 3,000
OXSXA(F8) Ol RF Ao 5,000,000,0008 = 0.05% 2,500
220 LA E A2l 7,247,450 6,248,606 998,844
221 THAHOH 2t 2= ¢l 1,055,000 894,844 160, 156
221-02 Al - SR THAH A =4 2 55,000 55,000 0
[ 23 ] 55,000 55,000 0
<R > 55,000 55,000 0
O RMA 2 (HR ) 5,000,000 * 12 5,000
OZLMA WAL (WD) 50,000,000 1A 50,000
221-03 WML+ 1,000,000 832,764 167,236
[ 23 ] 1,000,000 832,764 167,236
< SApED > 1,000,000 832,764 167,236
OUAXT MANE EXNEY ¢
1,000,000,0009 = 19§ X3 1,000,000
222 TXISHH2tR S 2 319, 121 180,000 139, 121
222-01 XX SHHZtRE S 2 319, 121 180,000 139, 121
[ 252 ] 319, 121 180,000 139, 121
<EBYBHDY > 25,000 20,000 5,000
OgaAad otd - SI2HEAY XHeltE 23
25,000,000 * 13] 25,000
< OHEE Y > 134,121 0 134, 121
02022 & CCTV SS2HMAEH2HMRY 2|
134,121,000 * 14l 134, 121
< sYlladE > 160,000 160,000 0
OYANES=Z 2GHI(MSSELA NK2)
160,000,0008! * 13] 160,000
224 J|Et4 5,499,329 4,808,762 690,567
224-01 Mg e+ 3,000 3,000 0
[ 23 ] 3,000 3,000 0
<R > 3,000 3,000 0
ONYXE +2(H2D) 500,000 * 6 3,000




g 200 Mel+=¢
2 220 LAIEA >
gt 224 JIEt=+=2 (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
224-04 NIBHEAEES 90,000 90,000 0
[ Letsl A ] 90,000 90,000 0
< S > 90,000 90,000 0
OXNEHEA =EZ3S A 90,000,000& = 14| 90,000
224-05 XY WNRANTLAZEH =Y 4,799,210 4,512,483 286,727
[ el A ] 4,799,210 4,512,483 286,727
<MW > 4,799,210 4,512,483 286,727
OXYAHAM (ML) 959,842,000& = 53l 4,799,210
224-07 12 =¢ 607,119 203,279 403,840
[ Letsl A ] 607,119 203,279 403,840
< FUFX D > 1,970 2,009 A39
Ox,F.1 Il X3 1,970,000& = 12 1,970
< EXNZH D > 400,000 0 400,000
OSZNY SE3lH HH(SEA HA)
400,000,000 = 13l 400,000
<ML > 120,500 121,500 1,000
Os8 =11 ¢ g3 Al 100,000,000& * 13l 100,000
OZ=2d &Y gdAgl 20,000,000& = 12 20,000
OXsSIHA(=8) ArR X2l 100,000& * 53 500
< Atgof 2t > 16,000 14,450 1,550
O=IHI| M 54 HE =Y 100,000& 1000 & 1,000
OB MY IHREES =Y 750,000& * 20ha 15,000
< SEAIEAIE A& > 300 120 180
OdUNEAASE LUHIEI =& 25,000& = 128 300
< s=ZAMYA > 68,349 63,800 4,549
OXEYFHIY NIAS(ZSS) 16,987,000 = 30H A& 50,961
OXEYFHIY NIAL(SEY) 5,796,000& 304 & 17,388
225 AtE =42 374,000 365,000 9,000
22501 AttE ¢ 374,000 365,000 9,000
[ el A ] 374,000 365,000 9,000
<ALEDSH > 374,000 365,000 9,000
OF&EX L= 5,000,000& * 13 5,000
ONsXHsE & BH= 2,000,000& * 13 2,000
OZEJIH € OIENSE e NEHS 17,000,000& = 13l 17,000




: 200 M4
T 220 YAIEAIQ Y
8 225 AE E 42 (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
OXSIAAX S BEHR 150,000,000 * 13 150,000
OHALE Y2 200,000,000 * 13] 200,000
230 NILSHMI - 23 396,900 296,800 100, 100
231 B}&2 66,000 25,000 41,000
231-01 &3 66,000 25,000 41,000
[ 23 ] 66,000 25,000 41,000
< BEAY > 50,000 10,000 40,000
ORsaAYY NUEI3 500,000 * 1002 50,000
<AHHEWED > 16,000 15,000 1,000
ONSx 2 B2 2 €23 200,0008 = 80A 16,000
233 B2 1,800 3,500 A1,700
233-01 N3 1,800 3,500 A1,700
[ Lersl A ] 1,800 3,500 A1,700
<AHEWED > 1,800 3,500 A1,700
O=ZeMaeAZ 1,800,000 * 13 1,800
234 VEHE 329,100 268,300 60,800
234-01 X BB VER 293,000 231,200 61,800
[ 23 ] 293,000 231,200 61,800
<AHWED > 290,000 230,000 60,000
OFFX BEB 10,000,000 * 13l 10,000
OXSx 2 BEHR 190,000,0008! * 13] 190,000
OHALE BH2 90,000,0008 * 13] 90,000
< HEASZRIALA > 3,000 1,200 1,800
OXtgol 2HME ALV 1,000,000 * 12 1,000
OFHX 22 B2 40,0008 502 2,000
234-02 JIEFDEHE 36,100 37,100 A1,000
[ 2ers 3 ] 36,100 37,100 A1,000
< ==Y > 10,000 10,000 0
OZfAFTA A8 DEHS 80,0008 * 125 10,000
< BEAY > 10,000 10,000 0
OFosE s Bz 243 50,0002 * 1002 5,000
ORSANNATD 2298 BE2 5,000,000 * 124 5,000
<HAHIEDL > 2,000 4,000 A2,000
OAERIMY ety OHE D2 200,0008 = 10A 2,000
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200 Al2l=+=¢
230 NSHIMM - Fut=

234 MEH = (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2

<EIEML > 12,000 12,000 0
Oz de e WEH= 1,000,000& = 103l 10,000
ONHEEY 2 L= 100,000& = 202 2,000

< AtEof et > 2,100 800 1,300
Odtt=0g F =018 WEH= 300,000& * 72 2,100

300 X2 = Al 303,000,000 251,981,000 51,019,000

310 XN 2Al 303,000,000 251,981,000 51,019,000

311 X uw 2 Al 303,000,000 251,981,000 51,019,000

311-01 ES LU 2A 278,000,000 228,485,000 49,515,000

[ el A ] 278,000,000 228,485,000 49,515,000

< JIEZAMA > 278,000,000 228,485,000 49,515,000
OESWU=EA 278,000,000,000& * 12 278,000,000

311-03 2S&t w2 Al 25,000,000 23,496,000 1,504,000

[ 2etsl A ] 25,000,000 23,496,000 1,504,000

< JIEZAMA > 25,000,000 23,496,000 1,504,000
ORs4atu Al 25,000,000,000& = 13l 25,000,000

400 ZEWNRSS 10,813,770 6,145,845 4,667,925

420 Al - 2 X2H LRSS 10,813,770 6,145,845 4,667,925

421 Al - Z2X2E DRSS 10,813,770 6,145,845 4,667,925

421-01 Al - 2L EXZHNES 10,813,770 6,145,845 4,667,925

[ Letsl A ] 10,813,770 6,145,845 4,667,925

<ML > 10,813,770 6,134,130 4,679,640
OANZLEZFHIURS 901,147,500& » 12& 10,813,770

500 EX3 188,187,015 188,015,306 171,709

510 = D82 X=S 151,607,848 153,173,540 A 1,565,692

511 =08 x38 151,607,848 153,173,540 A 1,565,692

511-01 |2 1EX=3 89,738,582 133,570, 182 A 43,831,600

[ 2etsl A ] 89,738,582 133,570,182 N 43,831,600

< FUFX D > 56,428,842 55,383,906 1,044,936
OlBA=R=] 56,358,389
OFUM=Z (=) XIS 135,066,000& * 13/ 135,066
OFM==Z(XHarsl S) K= 101,441,000& * 13/ 101,441
CTMA=s = X 1,436,974,000& » 13 1,436,974
O&MrLd el XA (SRLRel) 103,036,000& = 13 103,036
OZoH Yt X (ML Rtel) 136,979,000& * 13 136,979
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& 500 ExX3

Z: 510 2nEx3ES

& 511 2NLE3ES (2r9:88)

E.2-8-2 0l &k o8 B ol by Bl =2t
O HOHQILXtel K& (Al2EH L Xtel) 27,600,000& 13 27,600
O %0 QI U Xt2I X & (Al 240 Q1 OHOFTH A )
27,918,000& 13 27,918

O &oHe X017 K& 2,287,000& 13 2,287
OW&ZEMC E4HE XA 2,100,000& 13 2,100
OMASZEOHQ XEhHl L Z Al K& 800,000& 13 800
oOFoelel=zHl XI& 101,325,000& 13 101,325
OXEOe 3N =¢ 1,723,148,000& 13 1,723,148
O&e 82X 20 Jtat=20 9,953,000& 13 9,953
OYEMaE Myl A K& 192,024,000 13 192,024
oOggHMe F2AESAHHA XA 210,721,000& 13 210,721
oOxZHe HUEsSsSAHEA K& 73,840,000& 13 73,840
OZHMAAFAE 2 884,054,000& 13 884,054
OFHMLUAANFAIYE T+ XN 10,496,000 13 10,496
OZd=zE ttehdl X 372,000,000 13 372,000
OZ=2g JdYgH X& 46,500,000 13 46,500
OZ32E &=3H X& 100,384,000 13 100, 384
OLoldXiel & AM3lasXAAY  2,845,872,000& 13 2,845,872
OJI=AH3a X2 37,821,192,000& 13 37,821,192
OLodEESsSMHA 2,195,354,000& 13 2,195,354
OXNEZZAY 1,393,721,000& 13 1,393,721
OXNHXedyeH 29 245,294,000 13 245,294
osYIIsS=H I 7,931,000& 13 7,931
osldIN=sSEI 11,551,000& 13 11,551
ougll=ssz 16,566,000& 13 16,566
OFELIIEZSE 13,693,000 13 13,693
OEY XM= 41,924 ,000& 13 41,924
OS2 M=HZ | 4,056,000& 13 4,056
OSIZMEAHZI 3,268,000& 13 3,268
OFHUHY MEHE(XH&I0ISH) 9,639,000& 13 9,639
OFUHL MEHF(XHASAED) 33,329,000 13 33,329
OMAHZSN 5,526,560,000& 13 5,526,560
(O FaES N =) 42,760,000& 13 42,760
OZ2Z=A KEA 287,610,000 13 287,610




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OZDZLH9 MEXAd XA 37,275,000& 13 37,275
OSH Xsd SEAMUA 23| 64,680,000& 13 64,680
O SgAtdl2el X& 7,500,000& 13 7,500
O S A2t 2l AF 124l XIT& 49,968,000& 13 49,968
O[#F A ] 32,453
OXMESALA doiE28=E X& 1,433,000& 13 1,433
O XN&SAH ZOIUOIH erAbl 31,020,000& 13 31,020
Ol=8FLAEL] 38,000
O &=a&e| =gl X2 38,000,000 13 38,000
< ENZ A > 1,687,924 6,194,143 A 4,506,219
O[#F A ] 1,091,253
odd Y OIS ZZHE 102,794,000 13 102,794
OFY B S2MRE BEI 84 AY
183,960,000 13 183,960
oOdY UXNE gXtel Z2RE 225,000,000& 13 225,000
OMBIMZIN o) B oz s D2ME
155,169, 000& 13 155,169
OWUXIAMAALE ZHZ e~ E 88,340,000& 13 88,340
O18®w¢Y G.P.S. 8,456,000& 13 8,456
OABIEMZ+RYIIY 2.0 Z2NE 40,334,000& 13 40,334
OXNAMNSAZH LI 2 (4%X&) 287,200,000& 13 287,200
olns=s=] 201,671
OAMIEIS MIAMLXA 11,596,000& 13 11,596
OdlzdLRC 43 E2HE 190,075,000 13 190,075
OlaTAENS] 5,000
O LPGEJII AMEJF AMAEM&SAS 5,000,000& 13l 5,000
OlsadyIgR] 390,000
O LASLAE FXSHMLAE 390,000,000 13l 390,000
< WS > 77,345 75,345 2,000
Ol=Ens*=] 77,345
O MNEFEILA XA 77,345,000& 13l 77,345




& 500 £EX3
2 510 R UEX3S
g: 511 2 NEXE3S (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
<R32 > 535,204 728,113 A192,909
olesdszzR] 76,393
02021 RFAZEN XAAY 30,000,000 * 13 30,000
O=2A=20F HI=LAX 25,773,0008 * 13 25,778
OXSAIE YTHAIAH SAEAL 7,000,0002 * 13 7,000
OMNSTAZ HBAZ A ALY 13,620,000 * 13 13,620
Ol2FMHE] 458,811
O=JXE 4 SESSNM BE+TUI(BH)
433,811,0008 * 13 433,811
OSNNIE2FN ALY 25,000,0008 * 13 25,000
< BEUAY > 2,099,576 1,761,221 338,355
olene] 10,021
oNEEARY 10,021,000 * 13l 10,021
olge=] 33,533
OJIEHANSEMNR XA 33,533,000 * 13 33,533
O[=gnse 2,056,022
O XI = T§ = ALAF 1,977,756,0008 * 13 1,977,756
O XIJHZE At 70,266,0008 * 13 70,266
OZIN=AFBAALH(KAIS) 2 8,000,000 * 13 8,000
<OEIED > 11,845,445 11,687,129 158,316
OlA=XR] 10,827,999
OZAHXS Ol XX 9,989,0002 * 14 9,989
OOISEXNAL E5ER0S N4 97,920,000 * 14 97,920
OQESOSLYAN XN 96,049,000 * 14 96,049
oots+¢ X 1,875,475,000 * 14l 1,875,475
OOIS+YXY A2y FaY 212,0009 * 14 212
OOtSESHLR Q12 X 31,920,0008! * 12 31,920
OOISSUHZAl SHE HLFY FAXEA
5,000,000 * 12| 5,000
OJI¥LAEIS MNAEER X2 1,825,0008 * 12| 1,825
OXSZEOtSHE 29 X 678,180,0009 * 12| 678,180
OS4Y NIEOISHE =X 12,000,0008 * 12| 12,000
OXSOISHE SHMLHl X2 5,000,0002 * 14] 5,000
OOIS=2X WA ItAH X & 164,426,0008! * 12| 164,426




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OFAHE OlsSEAMHIA X 270,848,000& = 14 270,848
OExsWAHEA 2AHl X 3,261,987,000& * 14 3,261,987
OEsWAE MM XA 725,827,000& * 14| 725,827
odeold 29 XA 106,493,000& = 14| 106,493
oogold Jised 3,000,000& = 14 3,000
Og®Rot 22 XA 2,640,620,000& * 14 2,640,620
oNded=E==€ XA 431,000,000& = 14| 431,000
Odot=& X& 389,028,000& = 14 389,028
22 2LHEH 2 1,200,000& = 14 1,200
OANZMES XN& 20,000,000& = 14| 20,000
OlodIIER] 903,511
OMEHEH XNE 29 400,367,000& = 14| 400,367
ootolss NE 493,544 ,000& * 14| 493,544
OHAE ALX AL 9,600,0008 * 14 9,600
OlsgsuAER] 2,421
ootaald 23 XA 2,421,000& = 14| 2,421
CICEEER-IE 11,514
O NAAM Jl=¢lMae| K& 1,514,000& = 14 1,514
OORIOIIIBAE B = 2,000,0008 * 14 2,000
oogolsSA2el XM X &  108,000,000& * 14 108,000
< ZIEMY > 4,648,094 4,553,511 94,583
OofaZ 2] 4,648,094
OJI=d¥stHE XI&AAS 100,000,000& * 70% 70,000
OJl=&d UER3 &5 XA 1,800,000& * 50% 900
OEAHEOIEN QHEE X&AS 6,000,000& = 50% 3,000
Otz BEAEQIEN QMEIE XIE A  200,0008 * 50% 100
O&AXNSA ESAS 6,000,000& = 111CH 666,000
O&IIGEX(2E) BESAY 14,000,000& * 640H 896,000
OMII0IEX BESAS 720,000& = 20CH 14,400
001210l S&XE LPGX M & AHYS
7,000,000& = 1200 = 50% 42,000
OOtMES= LoHMEAIE XA 23,840,000& = 50% 11,920
o888 MN=4A B2 E=SALS 10,000,000& * 60% 6,000




& 500 X3
2 510 2DPE3S
g 511 2 NEXSS (&)
Z-#-8-2 0l &t o 0 ot o HZE2
OARDANYE STAL ST KA
900,000,000& * 50% 450,000
O SdOIEXMel XM 592,650,000& = 13 592,650
OAMEIo 2= 20,324,000& * 13 20,324
OXER2 8B s48H LKA
10,000, 000& 13 10,000
OLFEARIX ZIIHI XA
1,600,000 = 700CH * 60% 672,000
OLPGRtES Xt AIXt=2 XA 4,000,000& * 60CH * 50% 120,000
ODPFE = XI& At 3,500,000 * 240CH * 50% 420,000
OAEIIH DPFR = XI& ALY 11,000,000& = 2CH * 60% 13,200
OAHIIAH MDA X 2AS 16,500,000& = 15CH * 60% 148,500
ODIMPIX SHHE oY 2AXE A
317,400,000& * 50% 158,700
OF2 AMYE A2 A& XY
340,000,000& * 50% 170,000
OcGtd - ot= Medl FatAa 167,143,000& = 70% 117,000
O=sE& HHY =HEAS 400,000,000& = 10% 40,000
OdsHII2 E=s&otE &Xl 18,000,000 = 30% 5,400
<ASB=H > 2,728,476 43,268,851 A 40,540,375
OlsgEUAER] 2,728,476
OZ&AEAMA=ZH XA 341,860,000 = 14l 341,860
O&dUs=s 2040485 &8 XA 11,000,000& * 14l 11,000
O=ENME0s AL LAY 1,800,000& * 14 1,800
O=ZEHMaits AdNMSMEE IS XNF  2,982,000& * 14 2,982
OSZENEFL0IE MREE MEXE 37,191,000& * 14 37,191
O=&0E NMHIA M NSF XA 184,000& * 14 184
O=sENEUAXNFAAY 120,000,000& = 14 120,000
O3dY =g A=sH=XA 379,358,000 = 14l 379,358
O=s& ESHA MEAY 34,250,000& * 14 34,250
O =4 Y MAHT nsHLdE X2 15,000,000& * 14l 15,000
O =4 Y MAHX AlIZEH XA 103,000,000& = 14 103,000
O=Rol OF¥sSE Z=AL X 1,320,000& * 14 1,320
O=ZJIH S3&EX XA 27,800,000& * 14 27,800
OL==JIH ZJIHXIX XI& 159,600,000& = 14 159,600
ORIN=LXNMXA 87,431,000& * 14 87,431




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OXEBAHZ(ELHEH )X 769,386,000& * 14 769, 386
OELNEH E2s4x2H X& 125,177,000& = 14 125,177
OYguR AgdsL=E XA 38,400,000& = 14| 38,400
og3&e2dg 96,000,000& = 14| 96,000
OGAP et&dd 2AXIE 14,000,000& = 14| 14,000
OsttE S0 XA 139,000,000& = 14 139,000
O=s4t= OHAHE XNEAAS 5,400,000& = 14| 5,400
OXME X& 90,000,000& = 14| 90,000
OAMSR0 HUTNOE 583 (HHTZEZ)AY
114,600,000 » 14 114,600
OZXS=sus U2tA XJAAS 13,737,000 = 14l 13,737
< AHEOH 2D > 4,278,871 3,271,407 1,007,464
Ofare 8] 4,211,141
OOIMHX XtH= =4 500,000,000 = 10H A 500,000
Od= d2=JAAMY 131,600,000 = 104 131,600
ODIMEX MZx™ 22,000,000& * 13 22,000
O 2URxd™ 17,106,000& = 13l 17,106
OZHME =4 88,658,000& = 13 88,658
ous=8tt =4 37,460,000& = 13 37,460
O FH#=IR)| 806,513,000& = 13 806,513
O &3 4E IR 161,296,000& = 13l 161,296
OMSE &45ZIHE =4 8,688,000& = 13 8,688
ODINEXNMZE A=t 142,380,000& = 13l 142,380
O=2M=8 FHH=el 6,809,000& = 13 6,809
O=SM=&X & g2t 418,000& * 13 418
OWMENES 2ZMULKXN 11,100,000& = 13l 11,100
ogdtE ®R3JIgt =4 116,250,000& = 13l 116,250
Ot &SN A 72,420,000& * 13 72,420
O got= Moot x4 273,720,000& = 13l 273,720
O&Ed L= o2 140,770,000& = 13l 140,770
O atE Mo REst 106,620,000& = 13l 106,620
OEs+ otdate| A=A 250,000& = 30= 7,500
O #XA 22 26,476,000 = 13l 26,476
O= oild =29 13,238,000 * 12| 13,238




09 i 0

E.2-8-2 0l &k o8 B ol by Bl =2t
OM=d 20 L& 3HCH 234,286,000& * 13 234,286
ONMSZXIHE(AAH) 177,482,000 * 13l 177,482
ONMSZXICHE(R=H) 1,560,000& = 13l 1,560
O LPtEais YA 12,021,000& = 12l 12,021
O

)

At THOH R Xhel EII(MSHNSH LM
1,723,000 » 1& 11,723

1

= 1,875,000& = 12 1,875

OMZAY MREH 966.360,0008 * 17§ 966360
OAAIY BIIHZ oETE 41,212,008 * 1l 41,212
OMBTHHLXIZI (MAFBHBZOIHE) 11,300,008 » 13| 11,300
O AN R 22 54,600,000 * 13| 54,600
O GHAFER TR 2T 7.700,000% * 13] 7,700
Oloh g+ are] 67,730
OHS NUKBLIH XA
33,333,334 2% * 30% 20,000
O4MUSE BHUY WABIAY
50,000,0009! * 60% * 13l 30,000
OHICHE Z X0l XIS ALY 17,730,0008 * 2% * 50% 17,730
43 > 1,301,108 1,264,443 36,665
OlsgsaaEs] 1,300,808

O7MSA & AlMEAZ 7 ANJFOI=HA)

214,439,000& * 13 214,439
OFMS o X& 459,954,000& = 13 459,954
OFME L Al HYAE 2 N (HEEFHI)
63,000,000& = 12 63,000
OFME & AINEAE 7 N (HBSAUZ)
20,020,000& * 13 20,020
OFME & AlNEAE 7 XNAOIS=0 F2Yy2el)
84,000,000& * 13 84,000
HXEEds A= 160,000,000& = 12l 160,000
OHHAl ~2248&& X=X A 12,000,000 = 13l 12,000
OSH=L 29 XA 244,000,000& * 13l 244,000
OH&ED SSEM XA 32,000,000& * 13 32,000
ORIl - RASS YAl X 375,000& * 13 375

1,260,000& * 13 1,260
o210 =43 =4 N 2,160,000& * 13 2,160
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Z: 500 X3
B: 510 DR XIS
&: 511 FNPEIES (Sl &R)
Z.@.-8.2 Ol &t o4 B 0 ot o Hms2
OSENS MeAANSE SHsi+= N> 7,600,008 * 13 7,600
OlalBolot ot a1 ] 300
OB SAE ABBAE 29 300,0008 * 13l 300
<oNEZY > 1,092, 161 758,988 333,173
Olatzos =] 1,091,561
oRlgs W AHl N 2,418,0008 * 13| 2,418
ORLEO LSS & 2 | 5700008 * 13l 570
OCISE 250l QYW XA 1,336,508 =204 4 2,673
ORNMHUSSEE 2,900,0008 * 13| 2,900
OM-Zel Xe H=ZD 7= 28,000,0002 * 17§ 28,000
OMAHFIEXT HHI 830,000,000 * 17 2 830,000
OF4TIE A=YE AAEH TH 225,000,008 * 14 225,000
Olzzd] 600
OLMSAD LAY 100,008l * 6% 600
<ALDSH > 69,400 211,952 A 142,552
Ol2Ens=] 69,400
O AR &b 23,400,0004 * 13| 23,400
Oojel BeHA T 46.000,0008 * 13| 46,000
<EAMED > 1,188,800 3,150,400 | 1,970,600
Ol2Ens=] 1,128,800
O=OZEZ0j FUNENAANY 11,400,0008 * 13| 1,400
OFNSH XBAY 1,053,000,0008 * 13| 1,053,000
OFEEAN A SEIAL 64,400,0008 * 13| 64,400
Olatzon =] 60,000
O=eBDAY 60.000,0008 * 13| 60,000
<EAA > 805, 131 598,203 206,928
Ol=2d=x 2] 805, 131
Os0= ABMHIA HAAY 211,104,0008 * 14! 211,104
OgEAARRIAY 21,587.28  3,9009! 84,190
OMASE JIMA EHER NBMY 279,008 * 155! 43,245
OFMEE XEH X 2,000,008 * 14} 2,000
OHOHOIZR XA 368.000,0008 * 14! 368,000
O TDbeta ol 443 b X & 1,083,0008 * 9! 9,747
Otdlel A0|L2F AN 6.471,2508 » 43| 25,885
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& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O SHHl QI G AbA TIGHAH ME X &2
170,000& = 128 « 27¢ 55,080
OJldE Ml AL 5,880,000& = 14 5,880
<sgllsddy > 952,205 653,570 298,635
[sETEH] 650,205
O=gJls 0lds 8 NEZE d&ls ANE
10,000,000& = 13l 10,000
OO0t =S 8 Un2 2XNXE
100,000,000& * 13l 100,000
O HAM &< 2801E EIIHISII= 2ESAdE
50,000,000& = 12 50,000
O E0tE =ZTHHl H2%eloel Sg2ellls Al
15,000,000& =+ 13l 15,000
OADIEHAEHE DES 25,000,000& * 13 25,000
Ooficieel Mo d8H ME - 25 22dls A
35,000,000& * 13 35,000
OUIOIH JIgh Mazd E3(Xl) 100,000,000& = 13l 100,000
OELHIA 29 20,000,000& * 13 20,000
O XAt 29 9,000,000& * 13 9,000
ozEIgFMAACY 2 5,000,000& * 13 5,000
OI=EER Bk =3 18,200,000& =+ 13l 18,200
s&=2 doils gl X 100,000,000& = 13l 100,000
Odgdis Ay 23 11,000,000& =+ 13l 11,000
Odgdis 2EZ 2 3,750,000& * 13 3,750
ogas SEXNE 10,000,000& =+ 13l 10,000
OLas AMZael & ALHEI X 5,000,000& * 13 5,000
OFdzge FGAHEA ALE 2,140,000& * 13 2,140
osgeldst 10,000,000& =+ 13l 10,000
Osgll=dzus 9,000,000& * 13 9,000
OXNCZRE d=2sgad XN 7,685,000& * 13 7,685
OsEMEMNY E8s I (sHAAEARY)
2,850,000& * 13 2,850
O=EXEMNY &8s X (sHastEs823)
700,000& = 12l 700
OJIxzgsJlsls 3,000,000& * 12 3,000
Odtrsge sddsus 36,000,000& * 13 36,000
O=5E =g ¢g7128 54 2,000,000& * 13 2,000
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& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
OsgelsisHH s 24XN& 4,880,000& * 13 4,880
OFE=E Y NLAE 45,000,000& * 13 45,000
OsZIHBEEERUS 6,000,000& * 13| 6,000
OXNSESs sgJls 23 9HXH 4,000,000& * 12 4,000
Ols8gs8AER] 302,000
O==JIAH A X& 100,000,000& = 1=l 100,000
O =F=4&HX L&D A X3 100,000,000& = 1=l 100,000
OFHsHE AN ML 102,000,000& = 1=l 102,000
511-02 2D LHSEIHEXS 14,077,092 11,471,167 2,605,925
[ 2etsl A ] 14,077,092 11,471,167 2,605,925
< FUFX D > 994,875 983,200 11,675
OBA=R2=] 994,875
O X ASIAHIA SEXHAS 870,683,000& * 13l 870,683
OEINISAUL XA 9,500,000& = 12 9,500
O JtArZHE S EXE ALY 114,692,000& * 13/ 114,692
< EXNSHD > 169,317 200,073 A30,756
OlngLs=] 136,317
OAMIIHIIGLXCIESAS XA 128,817,000& * 13 128,817
OAMSIAHIY MIEEZE K& 7,500,000& = 12 7,500
Olgzderd=R] 33,000
oXggd el At 33,000,000& = 13l 33,000
<ERL > 500,000 0 500,000
OZBEIHNE= 500,000
OYLdBITNA0EXA 500,000,000& * 1JH & 500,000
<ESEMSsSH > 4,010,000 2,886,000 1,124,000
OlRstdszaZR] 4,010,000
OMSIEANEXE (NN OFFE HE+AY)
100,000,000& * 14 100,000
OHSHU=ZE HAESA 450,000,000 = 14 450,000
o83 028 EHMSHHINLHMSAEXE]
2,760,000,000& * 14 2,760,000
O&s 02 MESHH[ESANE &5]
700,000,000& =+ 14! 700,000
<OHAENED > 450,000 300,000 150,000
Ol&IE=R] 450,000
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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OJIE=gdy A8 450,000,000& = 14| 450,000
<USE=Z L > 1,194,900 214,900 980,000
Ol=8FLAEL] 1,194,900
OdEAA=sY D= At Y 214,900,000& = 14 214,900
O=s&E dMEdEdAa N&E ALY 980,000,000& = 14 980,000
< Aol 2 > 1,205,000 987,000 218,000
Ofare 8] 1,185,000
oOXMgsdd x4 750,000,000& * 10H 4 750,000
O LT ANEALS 435,000,000& = 10H2 435,000
Ol +a=] 20,000
OoHLMd Il HtAH 400,000& = 100= = 50% 20,000
< NS > 442,000 0 442,000
O[#F A ] 442,000
O0glEsad HE A 442,000,000& * 1JH A 442,000
<ALuWs > 451,000 451,000 0
Ol=Ens*=] 161,000
OHEIHd &4dEMS 161,000,000& = 13l 161,000
Ol=858AEL] 290,000
Os0HEHA =228 MEXE 60,000,000& = 43| 240,000
O 1003 =HAl OIS0 HE 2B4&4= 50,000,000& = 13 50,000
< EANED > 4,515,000 3,990,000 525,000
Ol=8FLAER] 2,325,000
O=2&3H JIZMENE SdAY 241,000,000& = 13l 241,000
OZANE JIZMENE SHAEY 280,000,000& = 13l 280,000
OANZ SSLSAS 400,000,000& = 13 400,000
0YY SUXNT SOE HAXNG MHOHA HEAY
135,000,000& = 13l 135,000
ONZE MEXND S0I&E HAXA MBI HEAL
513,000,000& = 13 513,000
OFE U5MP S0I& HAXS MBI HEAML
484,000,000& = 13 484,000
OBtht SENP SOIE HAXS MO HEAL
272,000,000& = 13l 272,000
O=EnRsS?] 2,190,000
O XY X&A 500,000,000& = 13 500,000




& 500 X3
2 510 2DPE3S
g 511 2 NEXSS
Z-#-8-2 0l &t o 0 ot o
OZLS TATHMALY ,000, 650,000
Od=sS TAMY AEAEY ,000, 1,040,000
< sYIsHH > 145,000 215,000
Ols=d&E] 145,000
OsEXNEJIExY ,000, 145,000
511-03 J1= 47,792,174 8,132,191
[ LBr3 A ] 47,792,174 8,132,191
< FR=EXW > 286,797 0
O=SHL St M A ,097, 95,097
OZz2AY 224 ,700, 191,700
< 2st2Z I > 403,471 734,410
Ol2stis2a2] 186, 126
O =SE=2s0IEAHAY 126, 186, 126
O[22 HAE] 217,345
O =23 MHEXANE 2= ,000, 140,000
O 23 MHEHAIE |22 ,000, 35,000
O 23t 4MAHA HIXI ,345, 42,345
< EEMSEH > 376,839 761,472
Ol2stds22] 376,839
OMENS 243 MY BXALY(FUMHOIS
Ard) 0,000 160,000
OAE=2AN 0I2AH XA ,600, &) 47,600
OZOUAZTZAE 0182 KA 355, A 5,355
Ot MEHSESXZX XA ,493, &) 74,493
OHZ4 MEMESXEZX XA ,391, &) 89,391
< HEIIEW > 1,233,656 1,020,908
O[BH=XR] 27,090
Ogdots d=E+4 X2 ,200, = 25,200
oYY HE XA ,890, &) 1,890
Old4dIIER] 1,206,566
OS2 2IIE HH L= XA ,693, = 506,693
O&HAHW 82 THEXA ,290, &) 4,290
O BEAMMA 2 2H X 540, A 540
ONZ=ZHNEL 29 XA ,494, &) 82,494




09 i 0
o or ;g
=33
W HH
R RA
HT HT 0V
PA FA
ob oy
oin-oin

228 Oll &F o & E Ol At
OJNEZHIoll A NIAXNZTEZINY 29
1,477,000& = 14! 1,477
OJIE & US3INEXNIME 23
131,920,000& * 14 131,920
OZ2NEMHA 72,448,000 = 14| 72,448
O At &2l XI& 17,925,000& = 14! 17,925
OsSHIAMH A XA 15,894,000& = 14l 15,894
oltdieg X 18,830,000& = 14! 18,830
o0z IH=EEE =4 16,972,000& = 14| 16,972
OZE012Xt A AE 10,000,000& = 14l 10,000
OFAERWMNESIZANY 2 818,000& = 14l 818
CFAEFOURAZS 29 1,400,000& = 14! 1,400
O FAEXI T A BHXI X & A 11,364,000& = 14! 11,364
oSt & Fad XNYHdH 24 63,714,000& = 14| 63,714
Ostw & Fad sSAH X 2,707,000& = 14 2,707
oFAYE SEL 29 16,542,000& = 14! 16,542
OFAYE MY 2F 52,085,000& = 14| 52,085
O dAY gu=o0t2t00 29 173,232,000& * 14 173,232
odAHE SEXNZ 5,221,000& = 14! 5,221
<HEISLL > 37,861,711
AMER] 37,861,711
I X & A 133,710,000& * 14 133,710
AXEM X 33,852,000,000& = 14l 33,852,000
RPN AR 2,000,000,000& * 14 2,000,000
A 87,271,000& = 14| 87,271
HEX =M 1,232,024,000& = 14l 1,232,024
229400 XA 42,600,000& = 14| 42,600
A ALY 10,196,000& = 14l 10, 196
OANZZUS I (LLHRACAIE)ALL 76,320,000& * 14| 76,320
gotfA AXIAY 107,600,000& * 14 107,600
HA S) AEEH 119, 140,000& * 14 119,140
OlaH) M AFAI & & TH 3HAL 32,900,000& = 14| 32,900
AL S0 167,950,000& * 14 167,950
5,662,231

_23_




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
Ols8gs8AEZR] 5,662,231
O F4&Z0F ICT 58 AAY 103,800,000& * 13l 103,800
OStMEOHME XA 28,236,000& * 13 28,236
ogd EX&EH X 4,860,000& * 12 4,860
OEZEE 54 XN& 3,000,000& * 12 3,000
O ZAtg dat X3 4,178,756,000& = 12l 4,178,756
O XZAE AlE & JIAEE X& 228,500,000& = 13l 228,500
OZsgHg 22 (24Hl) 55,480,000& * 13 55,480
OZsHgHY 23 (2Adl) 52,321,000& » 13 52,321
OYIANE & FHIXNE 191,100,000& = 1=l 191,100
OJ3=It M=EHE X& 432,000,000& = 13l 432,000
O EloH| A& H] 62,000,000& * 12 62,000
O =4h= HACCP A& E X & 16,000,000& = 13l 16,000
O=dts0lg e A (HE2=Y]) 68,804,000& * 12 68,804
ostn 2rs4A XNE 237,374,000& = 13l 237,374
<AEWNSH > 20,000 0 20,000
OFENS?] 20,000
O ZSHAl 23 20,000,000& * 12 20,000
<gEAN > 1,947,469 2,047,829 100,360
O[2A=X=2] 1,947,469
od=slise RS N 350,000& * 12 350
od=slsE 29X 700,000& = 12l 700
O XAl A2 XA 33,896,000& = 14| 33,896
ORHdEEZCIAY W= 1,470,000& = 19! 1,470
Og=0t A3z 25,225% = 400! 1,009
OCAZS SR LEATHE ALY 17,7623 = 500Q! 8,881
OXNEAB S AN AMEIA 117,488,000 * 14 117,488
O E=0 LLE0 L EAHI 100,000& = 490! 400
oOoe=adt AZFM AMNEEE 4,000& = 250¢! 1,000
OXNSGEAMNGY 2=AMd &2 HSLtu=S
980,000& = 12! 980
OXNGAS S AL STAY 251,421,000& = 14l 251,421
OD0I=0t & d&840la0t d=H X 537,200& = 50! 2,686
O&FAHE &8 o=Hl K& 1,200,000& = 1¢! 1,200
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& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
O1NAY YR ozd XN& 750,000& = 9¢! 6,750
OHZEZANEHF 210,000& * 14 210
OXdAY HEAA L EFI| N 295,500& = 490! 1,182
OHEEUANOIAZA & 2t0t2el 237,000& = 12! 237
OXHeta ey =24 599,398,000& = 10H A 599,398
OSSN SZS=AAMEY 1,502,000 * 102 1,502
OsAHEEA 2=H X2 1,867,743% = 35¢Q 65,371
O =g H AL 77,1943 = 1,000¢! 77,194
OZUAT=XNHE &S 19,160,000& = 7¢ 134,120
OJI=3UAL=NNHEH 29 32,200,000& * 14 32,200
OSgIUALSINMNG 29 58,060,000& = 14 58,060
OZUNATSXNHE KA SAY AHFXH
17,744,900& = 29! 35,489
OdiiHzzsg Z2a & NN 3858 * 600¢! 231
YIEUY X XS 942,000& = 12! 942
OEAA BAHEI HA L JHT 19,285% = 6304 12,149
O ZHASIZAMN S 23,8233 * 792 1,882
O ZHetkt NHEZHEL A 23,4603 = 482! 1,126
OZMAEZ S HAAHNS 22 16,711& = 3832 6,400
OHIV & EHAISE 204 147,000& * 204 294
oololzzgel Xzl 45,7843 * 1202 5,494
OMEH HAUES? FAMXIAAS 5,100,000& » 14 5,100
OHYBESE 2c¥ 13,390,000& = 1¢ 13,390
O=JtHEES A 28,979.2& * 15,500Q! 449,177
o2AdAA ZHET 2elXS 18,090,000& = 14l 18,090
520 Al - SHIEXZ=S 36,579, 167 34,841,766 1,737,401
521 Al - EHIEEXZS S 36,579, 167 34,841,766 1,737,401
521-01 Al - EHIEXS S 36,579,167 34,841,766 1,737,401
[ et A ] 36,579,167 34,841,766 1,737,401
< JIEZAMA > 408,680 105,780 302,900
Ol ndEax™aa] 318,680
OHIRR ZE&Hols NAAME 49,800,000& * 13 49,800
oY Y LEE ST MY 37,680,000& * 13 37,680
O&FE HEX F=HHl X A 6,240,000& * 13 6,240
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
oFYE 2= A Y 224,960,000& = 13 224,960
Ol X =2] 90,000
OOtSH 9 LPGHH2Y =AY 90,000,000& * 12 90,000
< FUSX D > 5,829,434 5,701,867 127,567
O[2A=X=2] 3,780,336
O XNFASAMHIA SEXHA 65,301,000& » 12 65,301
OHHNISAHL XN EAE 713,000& = 12l 713
OFUM=E(I=E) X3 17,366,000& = 13l 17,366
OZM=L (X&) X= 13,042,000& = 13l 13,042
oA =s s X 184,754,000& = 1=l 184,754
OZMALXel XA (SRLRel) 30,911,000& * 13 30,911
OZOHA LNl K& (ML ML Rel) 41,094,000& * 13 41,094
O ZOoH L Xtel X & (A2 M Xtel) 8,280,000& * 12 8,280
OFOHA LIl XI& (A2t ZoHelerorntA)
2,094,000& * 13| 2,094
O&EZM =4HE XA 270,000& = 13l 270
OMASEOQ MEH & HAH X& 240,000& * 12 240
O FoHel o=H X& 7,599,000& * 13 7,599
oFMe 5K = 221,548,000& = 13 221,548
O EsXE =0 IHes0 1,280,000& * 13 1,280
OLYHEAMHI A X2 24,689,000& » 12 24,689
OLEHMYU FAESANH A XS 27,093,000& * 13 27,093
oggHEMe dUFSsSAHAEA X 9,494,000& = 12 9,494
OFZUMAANFAIE 2 113,664,000& = 1=l 113,664
OZMUAANFANE T XN 1,349,000& * 13 1,349
oZzg Hddl Xz 111,600,000& = 1=l 111,600
oZzg 4y XN 13,950,000& = 13l 13,950
oZdzg =4l XN& 30,115,000& * 13 30,115
okelgitel & AE8SXE A 853,762,000& * 13l 853,762
oJlz=da XN&E 840,471,000& = 13l 840,471
O QStE=E=SAEIA 282,260,000& = 13 282,260
O=Hkel SsS¢dAAA A 28,529,000& * 13 28,529
Oe2ZAMNE 46,457,000 * 13 46,457
OXNX&de 29 35,042,000& * 14| 35,042
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& 500 2=

2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (Sl &&)

Z2-2-8-5 Off &4 & E Ol At Hns2
osYIN=SH | 468,000& = 12l 468
osYINsSHI 722,000 = 12 722
ouglss% 1,009,000& * 12 1,009
o¥HsLI ==& 834,000& * 12 834
OFYUMEAZ 2,552,000& » 12 2,552
OYN=ESH | 247,000& * 12 247
OYN=ESHI 199,000& * 12 199
OHHUWLHM=AHI (XA R0I5H) 587,000& * 12 587
OFHUUWLM=HI(XHAIAZT) 2,029,000& » 12 2,029
OdA=N 690,820,000& =+ 13l 690,820
O off &t & M= 0d 5,345,000& * 12 5,345
o2d=2=X XA 21,571,000& » 13 21,571
O JtAtZHE Y E X2 AL 8,602,000& * 13 8,602
OZDZLH9 M&X&dl XA 22,365,000 * 12 22,365
OsY% XEE SEAMHA 234l 2,772,000& * 13 2,772
O SEAtdl 22l A el A H] 4,997,000& » 12 4,997
O S&Atell 2el X 2,250,000& * 12 2,250
O[BA=K= 1,997,588

OAME=SXA Ex=1S XA 3,360,000& * 12 3,360
O ZOHQ! ofOlIHA X & 1,023,000& * 12 1,023
OWEEME S MEIAAE 6,736,000& * 12 6,736
Ol EHMe g o SUEAY XF  6,480,0008 * 13 6,480
OXFOe 82X & FIOXE 23,833,000& * 13 23,833
ogEMEAMEIA & FIXE 1,944,000& » 13 1,944
OFOMHASAI=XJAHH 29 11,215,000& = 13l 11,215
OZHMAAFAE X & 12,240,000& = 13l 12,240
OXFeI=F=2AESHEH 29 50,312,000& * 13 50,312
OZOAOIESAIE SMHL SE€+=E XN 6,156,0008 * 13 6,156
OZMAXMATEANE 22H 67,145,000& * 13| 67,145
O+ ua 2 1,500,000& * 12 1,500
OHMA+=HSHEH 29 34,712,000& * 13 34,712
OZMAUELOISANAAME 29 38,000,000& = 12 38,000
OAME=SXAE SAL 2= X2 750,000 » 13 750
O=E8R3k & |RF2=H XN& 2,850,000& * 12 2,850
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
oddgr FIERISXK ol=<  20,000& * 39121 » 122 93,840
OLlMEANE 29| 867,481,000& =+ 13l 867,481
OMI=CI=XAIE 24l 463,293,000& = 13 463,293
OMI-A=STAELE SAX SESE 324,000& * 12 324
O QMEANE SAL SEE=E 30,960,000& = 12 30,960
oZzg 2g 143,220,000& = 1=l 143,220
OZd2Y 243t X 5,879,000& * 13 5,879
o0Zzd s=sHYY 22X 3,900,000& * 13 3,900
Od=2Y HIFLIANE £ 11,250,000& = 13l 11,250
Os0HE S8 294l 6,000,000& * 30H A 18,000
oAMUNEEH 29 1,500,000& * 12 1,500
O Qe K& 13,385,000& = 13l 13,385
O Mot @l AlAMEHE 12,712,000& = 13 12,712
ooz Xzdolg 24 XN 5,400,000& * 12 5,400
oL dog=28) XA 960,000& * 12 960
o=sg&d A& 4,080,000& * 12 4,080
O Xt Atell 2tel 29 9,298,000& * 12 9,298
OXNSEXEHE SAL EE=E 2,592,000& * 13 2,592
OXNIAEEEAN =29 6,408,000 * 12 6,408
o=stllsl 29 28,050,000& * 12 28,050
OFL®Y 2Hae 6,800,000& * 12 6,800
OIXXIHAE=] 47,040
05. 182 F=23X A& 41,280,000& * 13 41,280
05.1821 323 JIEg&8A XA 4,200,000& * 12 4,200
Oll=3st2s 2 MAXNRAL X 1,560,000& = 12 1,560
OlEgd=EAsY] 4,470
OtESANEE XA 4,470,000& * 12 4,470
< ETNSHD > 2,243,043 2,188,395 54,648
Oz otd=L] 724,721
OXdY EY 22 ZEHE 239,597,000& = 13l 239,597
OfYg FdE s=tR8 23t 54 AIE
146,780,000& = 1=l 146,780
OHUHRNMMBLE ZHE e-wE 198,306,000& = 1=l 198,306

_28_




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O1e=¢¥€ G.P.S 32,957,000& * 13 32,957
OADIEMZ+R2IIY 2.0 Z2XME  107,081,000& = 13l 107,081
OlngLs?] 67,609
OMBIFIY AFHIHNE XA 1,493,000& * 13 1,493
OdzZ4dE LNt 8485 Z2HE 57,023,000& = 12 57,023
OAMIHIIGLXCIEESAS XA 8,593,000& = 12 8,593
OAMIIAIIY MIIEEZE K& 500,000& = 13l 500
OlgdXtelZdHeL] 672,659
Odgd ZAJNY SEAY 50,000,000 = 1JH At 50,000
OXJl HEE AHstm X 27,125,000& = 12 27,125
ONtSIIgFEAEY 6,000,000& = 12 6,000
COl==SH 2SN AL 18,900,000& «* 13l 18,900
OXNESSHM LielAd 98,574,000& * 13 98,574
OSAJ YT HRIEHIZHME 130,800,000& * 13/ 130,800
OAd3e SH etd )ty s N
48,000,000& * 30% 14,400
OJIEENRA &X, AM&E 2x= XA
54,260,000 * 14| 54,260
ONY AEd 22X HZHH X
50,000,000& = 1JHz2 50,000
OMBIEAMIIY Al - ZH X 3,000,000& = 12 3,000
odg FE LIt AL 30,000,000 = 1JH A 30,000
odY S& LXel XA 100,000,000& * 13l 100,000
O&Yd 4050 2L Xtel&eis K& 32,000,0008 * 13 32,000
odY ¥ FHESHE N ALY 57,600,000& * 13 57,600
Oldetad =] 765,060
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OxAdIHXIIE e Hx - A5 A
750,000,000 = 13l 750,000
OAa30 -2/l 2lAZ X2 A
2,550,000& = 12 2,550
O&tdHA S4J/e 8 usSHl XA
12,510,000& = 12 12,510
Ol Xag=2] 12,994
ONMYUS JHAQMEX BSAE 4,500,000& = 12 4,500
OXMTHHUHUXES X RAAL 8,494,000& = 12 8,494
<SR > 212,052 72,677 139,375
ODIEx=HEA] 34,256
OHNeted T AFSIZ AL 16,119,000& « 13l 16,119
Os0E =NSUHLY 25 15,840,000& = 12 15,840
OZE30E Z20d2ACX |4 2,297,320 * 1H2 2,297
O[XXI&#HHE=Z] 157,796
OHIIAY 250t 2SI Mg 108,000,000& = 13l 108,000
OM73 E=sAMXNLEEHN MRFE 11,852,000& = 12 11,852
OMOIESXEX XtH EE3 675,000& » 6¢ 4,050
OsZ&XS 0o ZA X 13,350,000 = 27 26,700
OsZ&EXY S22 e ZA X 7,194,000& = 10H1 7,194
ORENE=] 20,000
OZYZ st HHUA JISEZAE
20,000,000& = 10H A 20,000
< =@t > 2,930,370 1,787,733 1,142,637
O2Z2sdEe=] 2,813,850
O =23re Hs2A 9,050,000& * 13 9,050
O SEAEl=2 2EXE 6,600,000& * 30H A 19,800
OLXE 2= 2+ FHIAMY 35,000,000& * 13 35,000
OE=¢ =dz deizd 2 FH 200,000,000& * 13l 200,000
oY == UL MEAE X 1,000,000,0008 * 13 1,000,000
O =4 AHOIEF =4 1,000,000,000& * 13 1,000,000
ol g2 =4 100,000,000& = 12l 100,000
O&lHE IMNSE Z2xd £X 150,000,000& = 13l 150,000
odey EZE ofatolol =4 300,000,000& * 13l 300,000
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
Ol2atdsad=R] 21,949
O SEgE30IsSHAEY 21,949,000& » 13 21,949
O[23HAE] 94,571
O=2IXNAE L SE23M EFHI(ZY)
74,368,000 = 12 74,368
OSNNIA23IH ES ALY 7,500,000& = 12 7,500
O 23 AMBHA Hi X 12,703,000& * 13l 12,703
<EBEMSL > 12,088 5,875 6,213
Ol2atdsadR] 6,808
OAE=2N 018 NFAMY 6,120,000& = 14! 6,120
OFMAAZ=2L 012A XNFAY 688,500& = 14l 688
O[2Z2sd=s=] 5,280
OMENM=XN=X gsX &l 5,280,000& * 14| 5,280
< S > 5,000 12,000 7,000
ORMENS=] 5,000
Ok &g ZHET2H HUHAIE 2 5,000,000& = 12 5,000
<HENSY > 6,890,561 6,944,503 A 53,942
Ols8gx8AER] 484
ootyald 249 X 484,000& = 14 484
O[2A=X=2] 3,539,204
OZHHEXNs Ots NEXNH 1,284,000& » 14 1,284
OOsS=XNANE E5E520s NE=E  7,344,0008 * 14 7,344
ORESOtsZLEAR X 12,349,000& * 14l 12,349
oots=+=¢ A& 240,999,000& = 14! 240,999
O0gRot B2 X 710,936,000& = 14! 710,936
oOd &dx5+8 XN& 116,000,000 * 14 116,000
ogot=¢& X & 104,738,000 * 14 104,738
OO0tS=EX& AE2Y = 27,0003 = 14 27
OOSESNERA o2Ad XN& 2,394,000& » 14| 2,394
OJtE=E80tE dollE8 =z XN& 235,000& * 14 235
Ogylts =€ A 3,240,000& * 14 3,240
ogd dHE XNE 405,000 » 14 405
OYgYId PL=ot=s A 300,000& = 14 300




B 500 X2
B: o520 Al - SHIRZZS
8 501 Al - SHIBEZ2S (S5 & 9)
H.o@-g-2 ol & =0 ko HDS2
OOISSEA S3HE M T BAIXE
1,500,000 * 14} 1,500
OO0RI0IT Js2Y 1,500,0008 * 14 1,500
OBSLIY QAAH N 1,630,995,0008 * 14 1,630,995
000IY 2% X 53,247,0008 * 14 53,247
OBSRIE MM N 362,915,008 * 14 362,915
ONZHES X2 10,000,00091 * 14 10,000
0%2 2UHYS 29 600,0008 * 14/ 600
OXHOISHE 2gH X 203,454,0008 * 14 203,454
OS5 XNAOSHE =X 3,600,000% * 14 3,600
OXSOISME LML X2 1,500,0008 * 14 1,500
OOS=X WA It X 49,328,008 * 14 49,328
OFANS OISSEMHIA N 20,314,008 * 14 20,314
Olog==] 284,102
OMZHE NT 2 42,310,0008 * 14/ 42,310
OBE2NE HHASFY N 63.337,0008 * 14 63,337
OFHAH S22 YK 322,0008 * 14 322
ONFEHW AN O BH X 69,0002 * 14! 69
ONFEANLYL 2Y N 24,748,008 * 14 24,748
OJEE DR REX2 T2y 29
190,0008 * 14 190
OotOISE X 63,457,008 * 14 63,457
OALNY L UESNEXME
39,576,0008 * 14 39,576
OYSDEMH A 21,734,008 * 14 21,734
O A2 X 5,378,00021 * 14! 5,378
OSHANHIA X 4,768,00021 * 1A 4,768
OXtHLOIEY XY 5,649,002 * 14! 5,649
OO0l NEEY E4 5,091,002 * 14! 5,01
OZE0IQK HYLFAH 3,000,00020 * 14! 3,000
OHAHRHBIZAEY 2% 245,008 * 14! 245
OFAE ALY 2,880,0008 * 14! 2,880
oFAsE sSEX 746,008 * 14! 746
ostmY HAE SAH X 602,008 * 14! 602
O[AlZoloZorE R ] 22,421
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OXNKIM JNlx=d2e XA 421,000 = 14 421
ONeo=sAas dgaeld 29 400,000 = 14 400
Oeolsaze XA X 29 21,600,000& * 14| 21,600
O[2A=X=] 470
O SAE HE=2S FIMY 470,000& = 14 470
Ol&git=zm 2] 2,988,295
OANME0ls Ustgst=Hls 450,000 = 14 450
OAN&OS MEE= 8,136,000& = 14 8,136
OOlS=XNAE SML S22 11,232,000& * 14l 11,232
OOtsS=XAE 2gH X& 166,542,000 = 14 166,542
O Eax0ls NHEFEHS A 4,500,000& = 14 4,500
O AME0tS =5 &l 180,000 * 14 180
OOS=XAIE Ol [HEEZ2IY 2F X
1,200,000& * 14 1,200
O8JlsE E, 825 Oots=4ldl N 188,100,000& = 14l 188,100
o gst=E ors=AH K& 51,840,000& = 14| 51,840
O LA AESHE X 972,000& * 14| a72
OJEAEOSHU /25 XNE 2,592,000& » 14| 2,592
OJEAEOISHI HE M=t 1,080,000& = 14 1,080
OJIE=IE0tE S =HI= 3,150,000& » 14| 3,150
OJt8=&8 520t NEEEH= XN&  10,500,000& = 14 10,500
OJERE $=XH 14,760,000& = 14 14,760
OFclud X& 2,116,296,000& » 14 2,116,296
ogzitgoleloly X& 47,931,000& » 14| 47,931
oolgold elZet 75 109,029,000& = 14 109,029
OX<S0tsdH ZHI XM 158,872,000& = 14 158,872
O0#JI8 CEAHAER XNE 14,400,000 * 14 14,400
OMas SR2IHE A& 35,982,000& * 14 35,982
OJIE=d4aE ¥ SAL SE=E 1,944,000 = 14 1,944
OJNE=H Iloil MY XM 1,275,000 » 14 1,275
OMZHH SAXR &sHl X 5,760,000& = 14 5,760
OMLHE SAX MRMHAH XA (KA
6,624,000 » 14| 6,624
OWAEZHAYINANE 2 FIHXE 3,557,000& = 14 3,557
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OZHHENWYE BHOISHRH XA
9,000,000& = 14! 9,000
OOIOIS=Z0l AZHAH X3 A 315,000& 14 315
OZE0I204 &R0 2 5,242,000& * 14| 5,242
OO0t 0ol U2stolainsy 29
1,560,000& = 14 1,560
OZ=0I2Xt =XHFHSHE X2 1,710,000& = 14! 1,710
OJIE & USINESXNILE SMA SESE
3,564,000& = 14 3,564
Ooledagaa] 26,458
O BACHE] S8Y AtY 26,458,000& = 14| 26,458
OIXxHHE=2] 29,127
oSty & a4 HF0=¢E 4,313,000& = 14! 4,313
OHAUME=EXNEH 28 N& 24,814,000& = 14| 24,814
< ESJAEHY > 1,153,739 723,561 430,178
Olsgd?] 469,730
O&EIIXSX 2UAES ALY 1,443,250% = 11104 160,200
OHIISEXN(AE) BESAY 1,400,000& = 64CH 89,600
O&EIIOIEX ESAME 180,000& = 160K 2,880
O =dOIEXMel X3 AMY 118,530,000& * 13l 118,530
OL=IARA ZIIHI XIFAL 56,000,000& = 12 56,000
OsE&HHY =HEAS 400,000,000 = 10% 40,000
OgsHlls Ssdotd &1 18,000,000& * 14% 2,520
Olggag=] 684,009
OXlgsotd &3XB0l 2 14,318,000& = 12 14,318
O MEiGHE SR ALY (HE) 500,000,000& = 13l 500,000
OltdsESES 2] 9,647,000& = 12 9,647
ORdiordsS=E Z=X2 11,844,000& = 12 11,844
OFAAS eSFE22 23 MY 4,000,000& * 30% 1,200
Olad=ay |2l 54,000,000& = 50% 27,000
O LA X SN A 30,000,000& = 43 120,000
<HEISLL > 7,519,404 7,603,575 84,171
Olsgs8AaEZR] 807,537
CZ2ABXdXN=EH X 68,372,000& = 14| 68,372
OFEs 204065 2&E X& 3,600,000& = 14| 3,600
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O=ZENEits 9L 324,000& * 14 324
O=EHNMENE dHFMEE X E 577,000& 14 577
OsENESZ0E A2 WS E 11,156,000& = 14l 11,156
O=&E08 AUlA otdIs XM 55,000& = 14 55
OsZELEUHN AL 36,000,000& = 14 36,000
oY =g s XA 47,687,000 = 14 47,687
OsZ& ES02A WML 10,275,000& = 14l 10,275
O34 Y MAMCX NSHLEE X 3,600,000& = 14 3,600
O =4 & MM AEEH X2 24,720,000 * 14| 24,720
O=dl OfdsS=E ZEANE XN& 396,000& » 14 396
OsgIIH Sat&EX BXE 12,510,000& = 14l 12,510
ORJIsEXNMAA 39,344,000& = 14 39,344
OXEZHS(ELHEM)XE 126,382,000& = 14 126,382
OCEYHEN sS&2H X2 12,598,000& = 14l 12,598
odadsg Jlg=E ALY 179,100,000& * 14 179,100
O GAP= It 2td o ZAHl X & 4,200,000& * 14 4,200
OsitE SSE0 2UAA 27,800,000& * 14| 27,800
Os4tE O0HAHE NS A 1,080,000& = 14 1,080
oOXME XN& 27,000,000& * 14| 27,000
OAERN HUXIOIE EE3AY 17,190,000& * 14 17,190
OICTE=E =& A Y 3,059,000& = 14 3,059
OANZZUS S (LLHRACAIE)ALY 11,448,000& = 14 11,448
O 1=H|IJt8otRA EXXE 16,140,000& » 14 16,140
SENS(HA S) &AL HUHEALY
53,613,000& = 14 53,613
OSEXNS(04) MAAL SUSAIY  14,805,0008 * 14! 14,805
Olt== NSEAAL U3t 50,385,000& = 14 50,385
OxXS=Ssua WL2A XA 4,121,000& » 14| 4,121
Olsgsd8AaE2] 6,711,867
Ost=s0adE B3 12,064,000& = 14l 12,064
Oost t=sssS4 A& 125,400,000& = 14 125,400
O=ZEHNEits 822 29 2,000,000& * 14| 2,000
OsZEHNEz20ls SSMHUM HEXE
29,532,000& * 14| 29,532
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& 500 2=

2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (Sl &&)

Z2-2-8-5 Off &4 & E Ol At Hns2
OsENEs20tS 43t N 15,000,00021 = 14 15,000
OsHEQE ALHMAIL XA 800,000& * 14 800
Osgelyd sthsXE 1,633,000& = 14 1,633
O =sIJt=20 X& 2,441,000& » 14| 2,441
O=sg3XX= OINXHXA 112,027,000& = 14 112,027
Oo=sgel =M X& 6,180,000& = 14 6,180
Odsge dsb=xd XN 203,436,000& = 14l 203,436
oddgkr =02 S2==E 2,676,240,000& * 14 2,676,240
O stt=didH 23X E AL 103,050,000 * 14 103,050
Ott=sgd&E 23 3,933,000& = 14 3,933
odsadsg 2N 23 7,200,000& * 14| 7,200
oMg=n X& 24,615,000 » 14| 24,615
O=s&2 MalEdz N 863,589,000& » 14 863,589
O=g0o &Ml EE K& 58,764,000& = 14| 58,764
OsJIH sg=28=s A& 31,055,000& = 14 31,055
OESst=E =4 2,850,000& » 14 2,850
O= EBt&=2 X & 75,000,000& = 14 75,000
oUsaALEsIIAH XN 99,828,000& * 14 99,828
OO0ISAUES=HLUXNE 9,116,000& = 14 9,116
O0dass UsH A8 dII28R N&
15,677,000& » 14 15,677

Os=i= 81 2et&d X& 27,380,000& * 14| 27,380
OdstEAEEH XA 9,765,000& = 14 9,765
OL=sJI1H =JIHX X 31,920,000& * 14 31,920
ORIIFsS ASH=XM 14,033,000& = 14l 14,033
odagdsdzE UASKE 114,855,000 * 14 114,855
OXEISLU=EERA Az XNE 1,500,000& = 14 1,500
oRd0l XN& 97,284,000& * 14| 97,284
OdEd=sgeX =4 750,000,000 * 14 750,000
ORJI=s S&28 K& 35,937,000& = 14 35,937
ORJl=s MHOES 243 3,000,000& = 14 3,000
oxgdsdEs R AMNE 12,012,000& = 14l 12,012
O&Ed = HIJIEGISA AIZXIE  10,500,0003 * 14 10,500
OB ML 82X &MY 63,000,000 * 14 63,000
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (e &)
Z2-2-8-5 Oll &F o & E Ol At Hns2
OXEBsL= HAMM dEsIt |4
24,000,000& = 14| 24,000
O ZS3HI=0I3 E¥s0 JI8FSA  5,200,0008 * 14 5,200
OEZXAH BE2S ME OA MA K&
1,350,000& = 14! 1,350
OEXAL BE2SE NS NIHSEZAH X
900,000& = 14! 900
09 RUNSAALRF(HE) 400,000,000 = 14! 400,000
OGAPRIES &MIHE =22 XIE 3,075,000& = 14 3,075
ORJIIJEAS A5HIE K& 720,000& = 14! 720
OsAE MXJS XNEAE (HE) 50,000,000& = 14| 50,000
O EIdsdsE StusgA ATHE XE  208,064,0008 * 14 208,064
O stm= 4 Non-GMO AlTHE XI& 22,638,000& = 14 22,638
Oostuga otEd HA 5,875,000& = 14| 5,875
OZEIY S =28 M= ME  4,950,0008 * 14 4,950
O=sd2 TV EAE 284 X 15,000,000& = 14! 15,000
odgy HH NN EHiHl X 9,000,000& = 14! 9,000
Os4tE =222 Zof =Y 4,500,000& = 14| 4,500
OJNEASAXZH ZZH XA 27,000,000& = 14| 27,000
CHUSEXHES Mot 2 AY 73,350,000& = 14| 73,350
O+t 2 FH X 90,000,000& = 14! 90,000
O ZJl MAAE BUEAY 22,955,000& = 14| 22,955
OANERAN MaH H2 XA 21,200,000& = 14| 21,200
O&=2AHE sHE+ XMclIl XN 13,500,000& = 14! 13,500
OAN&TI2A ELME XA 13,964,000& = 14! 13,964
O LHTHEHAIZHH RI M X & A 9,010,000& = 14! 9,010
OuU==SEOHE2E XA 33,000,000& = 14 33,000
< Atgof et > 2,135,491 2,700,236 A 564,745
Oorad] 1,109,646
Od8= dA=2 MY 16,920,000 » 1JH A 16,920
ODINMEZX M2xd 4,400,000& = 12 4,400
OC2URXY 25,302,000& = 12 25,302
OZdME =4 25,272,000& * 13 25,272
O+l =4 11,238,000& * 13l 11,238
O FHM=It R 241,928,000 = 13l 241,928
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09 i 0

¥.p-8.-=2 0l &k o HE ol ok
ZZAEIRD] 46,509,0008 * 13| 46,509
SE MRAANY Ty 4,345,0002 * 13l 4,345
ODIMBNKLE BAEIIRI| 28,476,0008 * 13| 28,476
OSMasE AL 1,362,000 * 13l 1,362
OS4SR & Y2tu 84,0008 * 13| 84
oYsuz |EIIL XY 34,875,0008 * 13| 34,875
oYM HES XL 21,726,0008 * 13| 21,726
OJIE NUESEY 225,000,0008 * 1744 225,000
O YT AA A 37,285,0008 * 13| 37,285
OMESHS0YE S 70,286,0008 * 13| 70,286
OLELRINZ(ZAH) 79,867,0008 * 13| 79,867
OLELRITHZ (KH2H) 702,0008 * 13l 702
oYt HE YA 88,9258 + 40ha 3,557
OMBTHAHLXIRl B (MEHHSUZLHL)
2,345,0008 * 13l 2,345
oMga +=21= 563,000 * 13| 563
O AEALY MREH 207,070,0008 * 1744 207,070
O AFESAS) BOIEZ O EZIC 8,834,008 « 13l 8,834
OAMAE SX 22l 11,700,0008 * 13| 11,700
RIS 105,675
ONAE SLMWAA (M) 12,000,0008 * 13| 12,000
04z FREAR 23 435,002 * 13| 435
M2 ABNES NEAIE 7,200,0008 * 13| 7,200
M2 AZRY S X 8,640,0002 * 13l 8,640
+8 AUOS EXAY 60,000,0008 * 13| 60,000
M2 EDiRH SHH XA 2,400,0008 * 13l 2,400
o F UMY SOHAIY(HE) 15,000,008 * 13l 15,000
Olsexees] 920,170
AFSI YHDF 1,500,0008 * 13l 1,500
222 ZHMY(HE) 75,000,0008 = 1042 75,000
MBTE TEAY(HE) 25,000,0008 * 1024 25,000
YMHIA SRO(SAISKIZRI8) 11,113,008 * 19 11,113
=9 M FOCH HOix ZHAY
152,000,0002 * 13l 152,000
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OJtzs ZH(HE) 150,000,000& = 1=l 150,000
ou=zsd LAY (HE) 45,000,000& * 13 45,000
OEAHIEA HellM MM 6,000,000& * 13| 6,000
O=S30 Jise ddXE 12,000,000& = 13l 12,000
Od2YQ XA(EX) 707,000& = 12l 707
OEs= &l 1,200,000& = 20= 24,000
OMEH S4tz FH|(HE) 70,000,000& * 12 70,000
O AIEMY(ZEHL)(HE) 232,661,000& = 13 232,661
OROI=MER =& (HE) 50,000,000& * 102 50,000
OSSR (YREI) 65,189,000& * 12 65,189
< F4H > 1,730,611 1,478,697 251,914
Ols8gs8AER] 1,106,767
O F4&Z0F ICT 58 AAY 4,500,000& = 12 4,500
ostdsOtdE XN& 10,736,000& = 13l 10,736
O ZAtg dat X3 343,610,000& = 13l 343,610
O XZAE AlE & JIAEE X& 55,400,000& = 12 55,400
OFHMSE & AlMZEAE 7 ANYFOI=HA)
48,540,000& * 13 48,540
OFHS ofgeal X2 181,204,000& = 1=l 181,204
OFMAE & Al HYAS 2 N (HEE2FH])
44,100,000& = 12 44,100
O7HMA & AlNEAE 7 N (HESHR)
4,004,000& = 12 4,004
O7HMS 2 AlMEAE 2 XN (IIS=0F 2H2el)
25,200,000& = 12 25,200
O&XME B3 20,000,000& = 12 20,000
OZ3sSgHY 22 (24Hl) 16,644,000& * 12 16,644
O3s<HMe 2 (2Adl) 15,696,000& * 12 15,696
OZIANE & HEIXH 57,330,000& = 12 57,330
OHHAl A2Z2HZE& X=X AL 3,600,000& = 12 3,600
OJtE2=It AEHE X& 129,600,000& * 13/ 129,600
OsH=z=AL 29 & 73,200,000& = 12 73,200
OHIEI SSLHM X 9,600,000& = 12 9,600
O =42 HACCP 214 E XTI& 3,600,000& = 12 3,600
OF¢s0Id&e X (HESEH]) 20,641,000& = 12 20,641
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& 2x2
2 520 Al - SHIEEXES S
&: 521 Al - SHIBXSS (22 dd)
F-2-8-5 Ofl &F ot 8 0 oY Husz2
ostn 2rs4A XNE 39,562,000& * 12 39,562
Olss4&AE=] 623,844
ottt =255 XN& 1,800,000& * 12 1,800
OJtz Z&EIHM X& 14,400,000& = 13l 14,400
OHX MEsSESHEH XA 8,250,000& * 12 8,250
Ogyzdad g K& 17,550,000& = 13l 17,550
OJt% =& UHl N2AEd A28 H X
17,400,000& = 13l 17,400
OFA XIS SXEHM ABEAMS 16,500,000& = 13l 16,500
OJt= MAHEE NN 44,610,000& = 12 44,610
OZAMZE(HZ) A8 J3FUl XA 7,920,000& = 12 7,920
OeSENE 13,524,000& = 13l 13,524
o&t® Ns=Z8dX A 16,416,000& = 13l 16,416
OgAa dad ga X 10,800,000& = 13l 10,800
OAs 33 X 4,435,000& * 13 4,435
o223 MsSAE & JIXNM X 5,000,000& = 12 5,000
oS¢y X& 41,000,000& * 13 41,000
oS¢y X& 2,000,000& * 12 2,000
O=¢=sot Stsd &l A& 9,000,000& * 12 9,000
OFMIES Jisgdas N 16,800,000& = 13l 16,800
OHXNMAIISEIESE=Z HWAUXA 13,000,000& = 13l 13,000
OJt=&d HASZHM X 23,760,000& * 13 23,760
O BIOIHAALEAE Olegd™a X&  28,500,000& * 13 28,500
04 FAs olgde XA 6,720,000& * 12 6,720
oA EAY ZJAY 45 XN 5,775,000& * 13| 5,775
OXRA RYZ B XA 16,000,000& = 13l 16,000
OH ZEZY WAl X3 6,300,000& * 12 6,300
O MY HITES MHsFAI N 2,380,000& * 13 2,380
04l 82sJt dazdl XN& 12,750,000& = 13l 12,750
OOFMx= EXIM XI& 3,300,000& * 12 3,300
OXRA KREMEHM X& 24,000,000& * 12 24,000
OXRA REYZ HEEZ XA 4,687,000 * 13| 4,687
O8te HAR T8 HAY olges X
8,550,000& * 12 8,550
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& 500 X3
2 520 Al - EHIEEXSS
8 521 Al - ZHIEE3S (29 &)
Z-#-8-2 0l &t o 0 ot o HZE2
OJIEM tlgaal X& 2,325,000& = 13 2,325
OJN=EL EH 2= XA 6,000,000& * 12 6,000
OJt=EhL &t =8 SY XA 16,000,000& = 13l 16,000
Ozt AdFHMZM =22 72,000,000& = 13 72,000
O LI AdHFHMZTAIE X& 9,000,000& = 13 9,000
oXEd HHOE WS HMAE 5,580,000& = 13 5,580
O&Ed oHEEX EHl K& 8,112,000& = 13 8,112
Os==lg =sMsdsd SdXE 7,500,000& * 13 7,500
ORAL M NEAE 5,100,000& = 13 5,100
oOd=sA(2Y) e X& 8,400,000& = 13 8,400
OXEIFL=E SH XN& 70,500,000& = 13 70,500
oY=t ASAME HEAS 5,400,000& = 13 5,400
ORJIs= E3HH 2%4 XA 4,800,000& = 13 4,800
< HNMESE I 206,933 154,238 52,695
Ol#HE oM 2] 68,093
ooy Wx 2EHl XN 1,263,000& = 13l 1,263
ORVIHO QYo & B Hy| 380,0002 * 13l 380
oRNMHUSEEE 1,450,0008 * 13l 1,450
O0gllEs+d A 65,000,000& * 1JH 4 65,000
OZ2eg#] 1,200
O WS AL Ol ZA 100,000&  129H 1,200
Oz glord Al 137,640
OEENH = SdX& 4,140,000& = 13 4,140
OL= CIABEAE WH 12,000,000& * 10H A 12,000
OHI&ATUM AOIHREAE XI& 3,000,000& * 12 3,000
oQlgtel s ZA+Z(ZHl) 900,000& = 13 900
O otd 2te| 9,600,000& = 13 9,600
OANEES OHEE2 o TCHQIFS0F) 6,000,008 * 34 18,000
OATREXAINE A 90,000,000& * 14| 90,000
<ALWs > 2,782,179 3,221,325 A 439,146
O [ZERSR] 23,000
OO0l SEA ¢ 23,000,000& = 13 23,000
OlHdns=] 854,179
O3ZHA HAXA 12,000,000& * 3CH 36,000
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500 Ex=

&
2 520 Al - EHIEEXSS
8: 521 Al- SHIRXZ2S (e &e)
¥.2.-8.2 0l &k o PRSIV PNET HR=Z
OS0HEHA HWENSS 150,000,0008 * 13| 150,000
0472 XNANLAY 585,000,0008 * 13| 585,000
ONYE 428 oA 83,179,0008 * 13| 83,179
Ols=aaz=] 1,890,000
028 =X LIIBHEHAY (HEAY)
90,000,0008 * 13 90,000
00/ AX ST WIIBFH AL (HEAY)
562,500,0002 * 13 562,500
OEE ZXT LIIUIHIAY (HEAY)
562,500,0008 * 13 562,500
OMMRT S2lANANSEAS (HEAY)
320,000,0008 * 13| 320,000
OBTXP YE2M Sl NEHSSAS (HEAL)
80,000,000 * 13| 80,000
OMBXP A& 2elAEHSEAL (REBAY)
80,000,000 * 13| 80,000
OARD SYIIEAIEFH A 195,000,0008 * 13| 195,000
Olsasaazs] 15,000
01008 Al OIS0 ME 243 1,250,0008 * 122 15,000
< EANZD > 1,097,365 1,110,920 A 13,555
Olsasaazs] 135,000
0YY SHXT SOHE HAKS HBOH HEAY
14,000,000 * 13| 14,000
OANE ABXT SOHE HAKS MBOH HEAL
52,000,000 * 13| 52,000
OEE PSXT SOHE HAKS MBOH HEAL
43,000,000 * 13| 43,000
OBtdt 2SS SOHE HAKS MBOH HEAL
26,000,000 * 13| 26,000
Ol=2ERE=] 262,365
OSOERN FLHEXE AL 3,420,0002 * 13l 3,420
OXHBH XY 131,625,0002 * 13l 131,625
OHEIAN SAl SEXAAY 19,320,0008 * 13| 19,320
0YAS SAHAMAY 108,000,0008 * 13| 108,000
Ol2Z2aMS 3] 500,000
0%y LUNBE ZHAY 500,000,0008 * 13| 500,000
OlAERE=] 200,000
OARDXANLAIY(SSOIZAIL)  160,000,0008 * 13| 160,000
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B 500 X2
B: o520 Al - SHIRZZS
8 501 Al - SHIBEZ2S (S5 & 9)
H.o@-g-2 ol & =0 ko HDS2
OLRBNANLANS (BSFE) 40,000,0008 * 13| 40,000
<BAL > 705,256 508,565 196,691
OlRA=X =] 374,437
OSUZEABAHIA HEAY 52,777,008 * 14 52,777
OXAMET SATRMYI2A 23,498,008 * 14| 23,498
OXIHAE SEALSTAY 50.,284,0008 * 14 50,284
OSEIMALSINY 2% 17,418,0008 * 144 17,418
OJEFAAL=NHE 2% 9,660,000% * 1Al 9,660
OYgSABBIAY 4,317.44%  3,9000! 16,838
OFAMASSXME K&KLAY 012 X
5,323,5008 * 29I 10,647
ONASE JIHA ZHER K& 83,6972 * 1550 12,973
OXBEH0IS2 XA 216,667 * 2889l 62,400
O THOFSHAIO! 24 34 1l K| & 433,2238 * 90! 3,899
O B0 Y2 TS 2K S 2,588,500% * 427 10,354
OMIHYY 2T L NS 69,0002 * 14! 69
OYRYFUY BN 377,0002 * 19l 377
OBAL ZHMEX AAN L LA 7,758 * 6302 4,860
OZHUASEIN S 7,1528 * 7921 565
OB NSHEX EM 9,3758 * 482! 450
OZHUIABET S HANS =L AWNEY
6,6852 * 3832l 2,560
OFAHMD 9BY N 360,002 * 19l 360
OnPIE Yue o2Hl X & 225,000% * 99! 2,025
OEESNZALE 63,0002 * 14l 63
OSIAZE AEHIXR 560,314.3% + 350! 19,611
O 2t F ALY 23,1582  1,0009! 23,158
O 2t YESAY 21,3722 * 2509 5,343
OFMASSNME QA5 5,748,0008 * 79l 40,236
OFMEE XY N 600,0008 * 14/ 600
OJIME KA 1,764,0008 * 14| 1,764
oooI=2Eel XEH 13,7342 « 120¢! 1,648
OlA=2X=] 174,110
O SEOSHS HAX 1,500,0008 * 14 1,500
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O Motee Xk 2el 30,4463 = 148¢2! 4,506
ogEAXdz=d XA 1,572,400& = 20¢ 31,448
ONEY =8 EEZ N& 15,0008 » 80¢! 1,200
O XIHXIZ 2teldl XI& 189,910& » 500¢! 94,955
OZEEHZIA HERA HIX 9,759,000& = 14 9,759
OFAAS UEFAUKL GLESALY 12,760& = 100¢! 1,276
OlaZA HLESAMI 93,0003 = 80¢! 7,440
O ZEHOIA A HEES MY 158,400& * 120¢! 19,008
OFAANS A2 ML 9,961& = 303¢2! 3,018
Oolgdazdgaza] 166,709
otsoHd sotE3E 2EHl XA 150,000& = 39¢! 5,850
OdYE HUYRF Al=Hl N 570,000& = 20! 1,140
OZ23¢=xeld XNFAAY 323,400& = 20¢Q! 6,468
Ol AMO HAZXNAMNS (2URES FIXH)
57,000& = 133¢ 7,581
Odldord=tl X3 A 150,000& * 29¢! 4,350
OdXE(NH )RR A2Z A A 39,000 = 5¢! 195
o8 Xz XN& 540,000& = 12! 540
OSMIE &2 &= x| MHIA 949,500& » 209! 18,990
OHYFR AlsHl XA 897,000& * 25¢! 22,425
O&L Ao A2 22 XA 1,114,625% = 80¢! 89,170
<sgllsdd > 481,223 353,276 127,947
Olsglisd] 390,823
OESE NAHXIAAMNY 55,590,000& * 12 55,590
OJl& Mol S ol gH XN 65,439,000& * 13 65,439
ORcl & S35 zIZE & HuHX =4
30,000,000& = 12 30,000
OEXNE Mo HFEE S ANd 10,200,000& = 13l 10,200
OttsSotRA 289 ANEE ©HX =4
10,000,000& = 12 10,000
O=0HSA EHAAIH Ol AIE30 datdarat Alg
6,000,000& = 12 6,000
OZled DMz d& 2 K& 22,500,000& = 12 22,500
OICT 28 &2 A HASE & AlY
2,100,000& = 12 2,100
O ICT JI8t QelAF ArE & & AIY 19,000,000 * 13l 19,000
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09 i 0

500 Ex=
520 Al - SHIE X
521 Al - EHIEX

Z2-2-8-5 Off &4 & E Ol At Hns2
O4-H3 seJI=E2 NM3XE Mg 684,000& * 12 684
O4-H 23 &M € us X 3,300,000& = 12 3,300
OsZEXNEXz M2 2858 XNE 7,200,000& * 13 7,200
Os&0d IsdEdEEXN s X 7,110,000& » 12| 7,110

1,000,000& = 12 1,000

Od=adENMY S2dUa W & s XN
1,000,000& = 12 1,000
O0d=go st&sHd |4 450,000 = 13 450
O0d=ge d2sd Hgus X 3,000,000& = 12 3,000
OsgEusssd 54 6,300,000& = 12 6,300
=g sgo a3 s4I2 1,200,000& = 12 1,200

,750,000& = 13/ 3,750

25,000,0008 * 13 25,000
OgY JI& AR THHHS R LAY (X&)
100,000,000 * 13 100,000
O3 NSHESHE 29 A (ME) 10,000,000 = 13 10,000
Ol 2HAF M) 3,000
OASHE etts &I X AtY 3,000,0008 * 13 3,000
OlsgsuaazgR] 60,400
OLZEsJIH UAH N 20,000,0008! * 13 20,000
O =&KX LRI IHE X 20,000,0008! * 13 20,000
OASHE SIXAALY 20,400,0008! * 13 20,400
Olss4aazE=] 27,000
OSIIHAUAIE A LRtel X2 27,000,0008! * 13 27,000
< ETAYA > 80,000 0 80,000
OARR =T AAE HBAY 80,000,0008 * 14 80,000
< BEAZIEXZ > 155,738 168,543 A 12,805
Ol &= 2] 2,880
00 FHE& wa 29 2,880,0002 * 13 2,880
OolgA=X=] 152,858
OANZ Foje=x2 29 111,938,000 * 13 111,938
OO ASIEN T2 (NZ2Y)

3,000,000& = 12 3,000
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